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DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO.

QUESTION BOOKLET

Time allowed : 75 minutes

Full marks : 85

Answer all 85 questions including 10 questions (nos. 76-85) from any one of the language papers
opted by the candidate at the time of filling up on-line applications.

Each question carries 1 mark.

INSTRUCTIONS

Candidates should read the following instructions
carefully before answering the questions:

1.

This booklet consists of 24 pages including this front
page, consisting of 75 compulsory questions and
another 10 questions in each of the four optional
language papers. The candidate should answer all 75
compulsory questions (nos. 1-75) and 10 optional
questions (nos. 76-85) from any one of the language
papers opted by the candidate at the time of filling up
on-line applications.

Answers will have to be given in the Answer Sheet
(OMR Sheet) supplied for the purpose.

Before you proceed to mark in the right answers in
the Answer Sheet, you will have to fill in some
particulars in the Answer Sheet, failing which your
Answer Sheet will not be correctly evaluated.

Be very careful not to fold or crumple the Answer
Sheet (OMR Sheet) as this will result in error of
computerized evaluation. ‘

All questions are of multiple-choice type. You will
find four answers (A), (B), (C) and (D) against each
question. Find out which of the four answers is correct
or the best. Now darken the circle corresponding to
the letter of the selected answer in the Answer Sheet
with Black Ball Point Pen as per instructions printed
on the Answer (OMR) Sheet.

If more than one circle is darkened, as answer against
a particular question, it will be evaluated as wrong answer.
There will be negative marking for wrong answer. 2
mark will be deducted for each wrong answer.
There are blank pages at the end of the Booklet for
Rough Work.

The Answer Sheet should be handed over to the
Invigilator before leaving the Examination Hall and
while doing so, put your signature again at the
appropriate place of the Attendance Sheet.
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1. Who wrote Aranyer Adhikar (Rights of Forests)?
(A) Bibhutibhushan Bandyopadhyay
(B) Tarashankar Bandyopadhyay
.WC/) Mahasweta Debi

(D) Maitreyee Debi

2. Difference between G.M.T. and L.S.T. is
| (A) 2 hours 30 minutes
‘ ¢ \(’f) 5 hours 30 minutes
(C) 6 hours 30 minutes
(D) 4 hours 30 minutes

3. Which British ruler introduced the Police
Administration in India?
&) Lord Cornwallis
(B) Lord Wellesley
(C) Lord Dalhousie
(D) Lord Bentinck

4. Ifl‘f[3—g)=i then x3——13-= ?
X X X

1
(A) 25
11
(B) 25

13
© 25

) 22

5. The first Governor General of Bengal was
(A) Lord Clive
» WB) Warren Hastings
(C) Lord Bentinck
(D) Lord Canning
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1. SEeE SfE (& e
(A) Rgfoga et
(B) SHRMET ACIARIE
(C) T2ITael vl
(D) TES S

2. G.M.T. @38 L.S.T.~49 5z #1<5 2=
(A) 2 9%t 30 R 0
(B) 5 9%t 30 fif4G
(C) 6 9% 30 fifes
(D) 4 9% 30 <5

3. i R P Srars e e geme
PG TR :

(A) TG Femifer

(B) =6 ST

(C) =16 T

(D) =7¢ &%=

{2} 3
4. x(3—;]=—mx3——3=?
1
2—
(A) 2
11

(B) 25

13
o
©) 25

8
(D) 25;

5. AETR AN ST (@I forew
(A) 6 FiXS
(B) ST @O
(©) 16 @%%
(D) 1€ e
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6. The leading newsprint producing country is
-\(K) Canada
(B) Russia
(C) China
(D) Australia

7. Simplest value of
LS s el = g ool it
5 b —+

5!@ Oloo O|=— El""

8. In which year ‘Brahmo Samaj’ was established?
(A) 1830 A.D.
s (B) 1828 AD.
(C) 1800 A.D.
(D) 1784 A.D.

9, If 30% of A is added to 40% of B, the answer is
80% of B. What percentage of A is B?

(A) 30%
(B) 40%

gm%
e D) 75%

10. In an examination, a student had to obtain 33%
of the maximum marks to pass. He got 125 marks and
failed by 40 marks. The maximum marks were
‘(XSOO

(B) 600
. (C) 800
(D) 1000

@

6. fRTd e TeAAME 2o W LT FEE
(A) Jl=tSl
(B) =famm
(C) o
(D) R

At —t—t— b —t—t—+ — 3
’ 2 6 1220 730 4256 92 90-&?{

AT A I

(A)

ik
(]

(B)

©

et oloe o~
S|e | I

(D)

8. I NE w3 Afere wme
(A) 1830 %It
(B) 1828 fs5ic=
(C) 1800 fa5IT=
(D) 1784 %=

9. I A-43 30%, B-937 40%~93 AN @5 91 7,
SiZFE @eFE B-93 80% =W, 9@ B, A-93 =534l
TS Ol ?

(A) 30%
(B) 40%
(C) 70%
(D) 75%

10. <3 AT 9TEH WA AN FACS ZE AEH
THAE 33% (TS T | (31 125 792 (510 40 I3 G (T
39 | 21T T 799 T e e

(A) 500
(B) 600
(C) 800
(D) 1000



11. The main natural vegetation of the Steppe type
climatic region is

(A) Evergreen forest

(B) Deciduous forest
() Large grassland

(D) Coniferous forest

12. Raja and Goja are at a distance of 48 km. They
start at the same time to meet each other travelling at
the rate of 7 km/hr and 5 km/hr respectively. They meet
after the time

(A) 3 hours
(B) 7 hours
(C) 5 hours

. \(6) 4 hours

13. Which is the greatest fraction among
2 3 L 6

2197 343" 4377 687 °
2
(A) 210

®) 35

a\(64‘

437
6

(D) o857

14. If the value of n increases in the expression of

2n* +3 ;
x= nS:; - , then the value of x will

(A) increase

* \(B) decrease
(C) remain unchanged
(D) 'None of the above

15. The first newspaper published in India was
(A) The Hindu
(B) The Amrita Bazar Patrika
¢ \(C§ The Bengal Gazette
(D) The Samachar Darpan
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11. (B9 TERIY BT A4 TS Ofew ==
(A) PoazfRe sz
(B) tefzaiBt sraey

(C) W gergfii
(D) TR Sy

12. & GRS AT (A 48 Bl pace Imm)
o @2 T AT 7 BRI/ g 5 FR/eSy
AT (B AFFIOO T 261 76 | O W e
LG |

(A) 3 9%! oItz
(B) 7 9% #ta
(C) 5 9%t A=
(D) 4 9% #ita

g SR g
13. R RS OUH 215 35 137 oe |
2

219

2

343

4

437

6
(D)@

(A)
(B)

(©)

2n* +3n
M. x==—s FRHTe 7 n-a7 T I «i o=

X437 T
(A) I A
(B) BRI
(C) wofFfEe arm
(D) Toltaa (PIHE 77

15. ©iATe AFifNe 29w FeamAaD =
(A) &

(B) SIearsia #fet
(C) (F% (SIS0
(D) Ti5ta wefet

Bl s S S SV T SR S AR
. P g T

e ——
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# 16. Who wrote the novel ‘Aranyak’?
(A) Sarat Chandra Chattopadhyay
(B) Bankim Chandra Chattopadhyay
_ .\(6) Bibhutibhusan Bandyopadhyay
(D) Tarasankar Bandyopadhyay

17. There are 48 questions in a test. Each correct
1
answer fetches 1 mark, for each wrong answer — mark

2
is deducted. A student got 21 marks by attempting all

questions. The number of questions answered wrongly
18
(A) 28
(B) 12
e YO 18
(D) 30

18. The ratio between two numbers is 3 : 4. If each
number is increased by 2, then ratio becomes 7 : 9.
Hence the numbers are

(A) 24, 32
o L) 12, 16
(€) 6, 8

(D) 16, 12

19. Which of the following is same as
(x=yy+(y-2V +(z-%'?
< (A) 2%° 42y +27°
(B) 0
©) -»0-2)-x
oMD) x-y)(y-2)(z-%)

20. Solar energy is due to
(A) Chemical reaction
(B) Combustion reaction
(C) Nuclear fission reaction
& \(I{) Nuclear fusion reaction

16. SRGF ST RS 2
(A) *F<5™ S
(B) IfFEom HLGIAIYH
(C) Rgfogad Temi=iegm
(D) SIRAMEI ICIAGR

17. 3 e 487 ez | 2 #e Tema o
1 792 wAteT T 3k 2% we Sema e % TEAAMIR |

GG B TG AT TG AT 21 799 (517 | O (ST T
Taraa A =@

(A) 28
(B) 12
(©) 18
(D) 30

18. 76 AR SANS 3 : 4 17w 2T AT 2 et
(A ACA T, L SIHE TS = 7 : 9, O TR
i 21

(A) 24, 32
(B) 12, 16
(€) 6, 8

(D) 16, 12

19. I @D (x—y) +(y-2) +(z—x) ~9AFF2?
(A) 2x*+2y° +27°
B) 0
© G-»0-2E-x
(D) 3(x-y)(y-2)(z-x)

20. R = T &
(A) Tl RfEm
(B) wen fferm
(C) FEFr e
(D) FEFw werare=




21. The Permanent Settlement was introduced in

(A) 1790 AD.
o AB) 1793 A.D.
(C) 1798 A.D.
(D) 1802 A.D.

22. In which of the following diseases immune-
system of body breaks down?

(A) Diabetes

o \(Bj AIDS
(C) Black fever
(D) Diarrhoea

23. For APQR,PQ=(4-0-270)cm,QR=(2+1-732)
cm and PR = (1-35 + 2:381) cm, then the name of the
angle with maximum measure is

(A) £PQR
(B) £PRQ
o €5 ZQPR
(D) Can’t be determined

24. Whichone ofthe following elementsis considered
as a ‘micronutrient’ in plants?
(A) P
(B) Mg
(C) Ca

o\«("@ Zn

25. HCF of 3 numbers is 6 and LCM is 630. If two
numbers be 18 and 42, then 3rd number will be

a\/ﬁ() 30
(B) 20
(C) 24
(D) 28
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21. BaEd TR o &
(A) 1790 fa5B1c
(B) 1793 %1
(C) 1798 &%=
(D) 1802 f&3%Itx

22. v @NefEa Ty @HHEE WER THEVOT
S8 2T ?

(A) ©RTILA
(B) AIDS
(C) e
(D) s

23. APQR-97PQ=(4-0-270)f, QR=(2+1.732)
il @3 PR = (135 + 2-381) T 2= Tageive g2e
@i« :

(A) ZPQR
(B) ZPRQ
(C) ZQPR
(D) wferfa

24, fFsRRe @eelmg @b SR e
A} Totmmncst Reafoe =2
(A) P
(B) Mg
(C) Ca
(D) Zn

25, foafs e oPie = 6 €3k e = 630 | T 46
A 18 @ 42 T, O3 T Yl
(A) 30
(B) 20
(©) 24
(D) 28
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26. A radioactive rare gas is
(A) Helium
(B) Krypton

\;2 Xenon
¢ ) Radon

27. Which one is known as the brain of the cell?
§ \{K) Nucleus
(B) Mitochondria
(C) Cytoplasm
(D) None of the above

28. The colour of soil which is formed by Basalt
(A) Red
(B) Yellow
(C) White
@ \{6) Black

29. ‘Nildarpan’—The drama was composed by
(A) Michael Madhusudan Dutt
® \(6) Dinabandhu Mitra
(C) Bankim Chandra Chattopadhyay
(D) Subhas Chandra Bose

30. Which of the following is not a root?

(A) Radish
® \kg) Potato

(C) Carrot

(D) Beet

B

26. <3 (oEiHy Rae o= &=
(A) R
(B) fereloa
(C) o=
(D) @&

27. I FIER 1 I
(A) FefFam
(B) wiRgbresigat
(C) FARBiee™
(D) TAER (FII0E 71

28. IS e sifFe wifba ;R =
(A) ==
(B) =W
(C)
(D) ==

29, “Tewsfr Atz oS! 2™
(A) ZTe TP 7E
(B) W<y i@
(C) IfTETom HLBIAIGE
(D) orevE

30. Tiowa @A 7 e
(A) e
(B) =te]
(©) &=
(D) A6

e . o A
& .
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31. If the measure of each interior angle of a regular
polygon is 150°, then the number of its diagonals will be
“(A) 54

(B) 27
©) 15
(D) 12

32. The sum of the ages of Mallika and Uttam is
40 years. Five years ago, the ratio of their ages was 7 : 8.
The present age of Mallika is

<A) 21
(B) 15

e 0 19

(D) 16

33. The smallestinteger when added to 9547 x 9545
to make the sum a perfect square number, is
(A) 0
\(B) 1
© 2
D) 3

34, A boat goes 8 km in 1 hour along the stream and
2 km in 1 hour against the stream. The speed of the
stream (in km/hr) is
(A) 2
e\,(ﬁ) 3
© 4
D) 35

35. Igneous rocks change to sedimentary rocks by
(A) thermal influence
o \;B{ transportation of worn-out sediments and
deposition
(C) cooling and solidification
(D) None of the above

WRE17WB

31, @ N g oS e 150° 2,
FEgEHa IR A TR
(A) 54
(B) 27
©) 15
(D) 12

32, SEw @ TR IS AT (S 40 2 | 5 I
S| Sl FACT SAeirs Tzt 7 : 8 | WEI I8 T
TR

Ry
(B) 15
© 19
(D) 16

33. 9547 x 9545 &7 FH (¥ TGO TG FRY| @Y
a0 e ojfasl ARy =TI Gib 2
A) 0
B) 1
©) 2
(D) 3

34, <@l T IS S 1 Ui 8 Refil T @k
ae ofogE 1 wow 2 Rf wm @re ofewel
(Bf/a%m) ==

(A) 2
B) 3
©) 4
(D) 5

35, e M, SR e sfbTe =
(A) OIToF 2O
(B) Fuae Awea #AfFze ¢ Hen-aq T
(€) Mo ¢ FRACIA-G7 T
(D) AR IR 7F
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36. For what value(s) of £,25x* -20x+¢* will be a
perfect square?

(A) 2
(B) -2
o &) 12

(D) 1

37. The cyclonic storm of China Sea is popularly
known as :

(A) Cyclone
(B) Tornado

© \(6 Typhoon

(D) Hurricane

38. Eutrophication is one kind of
(A) Air pollution
#\¢B) Water pollution
(C) Soil pollution
(D) Sound pollution

39. Audible sound has the frequency range
e \(6()20 Hz — 20,000 Hz
(B) 2 Hz — 20,000 Hz
(C) 20Hz — 2,000 Hz
(D) 200 Hz — 20,000 Hz

40. A train 300m long passed a man walking along -
the line in the same direction at the rate of
3km/hr in 33 seconds. The speed of the train is

(A) 30 km/hr
(B) 32 km/hr

©) 32-1§1- km/hr

o\ 352 ke

1

10

36. 1-97 (I A GF, 2552 — 20 + 1> 90 ofefaaf
A A2 :

(A) 2
(B) -2
e I
(D) 1

37. BF sfieica 9% 2ew 2 YIRS A
(A) RFW
(B) Beffret
(C) Sy
(D) ===

38. LR T 9 @R
(A) g
(B) w=gEe
(C) sbrgael
(D) e

39. =feraren =3 FED [wE =
(A) 20 Hz — 20,000 Hz
(B) 2 Hz — 20,000 Hz
(C) 20 Hz — 2,000 Hz
(D) 200 Hz — 20,000 Hz

40. 300 o= 778 G0 GF, GG FFE O 9%
feard 33 GRS 2 | @iea siferas 3 Bfi/a%
7, G Siferae 2

(A) 30 ff/a%!
(B) 32 f&f/a%t

(©) 32% /a5

(D) 35% h/a%!



41. Doldrums means
¢ \(IA{ A region of calm climate
(B) A region of stormy climate

(C) A region of cold climate
(D) A region of dry climate

42. A unitless physical quantity is
(A) angle
(B) latent heat
o \,Kf) specific gravity
(D) density

£V oo :
43, If ;+‘;=1 then the value of x* +y’ will be

e \(A{ 0
(B) 1
© x
(D) ¥y

44, The solution for x of the equation

x+a x+b x+c _
b+c a+c a+b

1 . 1

b+c a+c a+b
(A) a+b+c

; ‘&B{—(a+b+c)
) 0
(D) 1

3

given #0,is

45. The ratio of male and female members of a club
is 5 : 6. The ratio will be reversed if 22 female members
leave the club. The number of male members is

(A) 72

&6
=] )60

(D) 70

WRE17WB

41. oEEeE oY 2
(A) 3B *g G
(B) «af% Aggtelel Grerary swee
(C) b Fost Gy Swe
(D) 9= UE ST W

42. pa @D GIIRAN cSreAH 2
(A) @
(B) #Awoiel
(C) S oy
(D) 9%

43. ﬂﬁ%+%=1@w £ +y @A TR
(A) 0
(B) 1
© x

(D) ¥y

1 1 1
4. b+c+a+c a+b

#0 31 9@

x+a x+b x+c
T a+c+a+b_—3aﬁw,x-a§mm

(A) a+b+c
(B) a+b+c)
©) 0

D) 1

45, T FA 37 & et AR TqAT® 52 6, AW
22 & SRE A PR AR P SR O TS
o3 21 | 97T T Y T

(A) 72
(B) 65
(C) 60
(D) 70
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46. Mirage is an example of
(A) Reflection of light
(B) Refraction of light
L4 \L() Total internal reflection of light
(D) Scattering of light

47. If x, y are real and (x-1)* + (y—-4)* =0, then
the value of x* +y° is
A 1
(B) 0

*\G) 65

(D) 28

48. Which of the following is a semiconductor?
(A) Copper
(B) Silver
(C) Aluminium

o \,ﬂf) Germanium

49. If the diagonal of a square is increased by 10%,
then the area of the square is increased by

(A) 10%
) ) 21%

(C) 100%

(D) 10:5%

50. The rock composed of Quartz, Feldsper, Mica
and Hornblend is
(A) Quartzite
e ) Granite
(C) Basalt
(D) Limestone

12

e ==

46. A P19 T
(A) SR alfewe
(B) wETa affswze
(C) SR Srersar sff afewerm
(D) =R v

47. x @R y I AT WY W aR
(x-12+(y-4)" =0 T, T@ x’ +y 93 A
s
(A) 1
(B) 0
(C) 65
(D) 28

48. T3 @l @3 SR 2
(A) SR
(B) =
(C) wpfaifea
(D) wfaas

49. <3 Fsfowea 39 10 =oi o I WA OF
cFaTe Jfa AN

(A) 101 |

(B) 21 *oiext

(C) 100 =SieN ?

(D) 10-5 =eiest

50, PRI, oA, WZI € TES FE e e |

(A) @EbERs
(B) IAIRG
(C) IJPFS
(D) pAtsites




§1. Swami Vivekananda had founded Ramkrishna
Mission in the year

(A) 1896 A.D.
e (B) 1897 AD.
(C) 1898 A.D.
(D) 1899 A.D.

52. Who wrote ‘Barnoparichay’?
(A) Raja Rammohan Roy
o (B) Ishwar Chandra Vidyasagar
(C) Acharya Jagadish Ch. Bose
(D) Rabindranath Tagore

53. Blood of which invertebrate is red?
(A) Sponge
(B) Hydra
¢ ) Earthworm
(D) Snail

54. In a triangle ABC, the side BC is extended upto
2
D.If ZACD = 125° and £B = 3 ZA, then ZBAC is

o W) 75°
(B) 105°
(C) 70°
(D) 100°

55. Rain-shadow zone is found at the
(A) hill top
(B) foot hills
(C) along the wind ward slope

) along the lee ward slope

WRE17WB

51. = R g few tof Sl
(A) 1896 AT -
(B) 1897 %o
(C) 1898 f&bTT
(D) 1899 %It

52. ‘Ifoifaew 9% (& @A
(A) G AR A
(B) Fwzom Rwmiio™
(C) BT G 5% 3]
(D) 7L IFA

53, (@R GRS Al T we T
(A) g
(B) 2E@!
(C) !
(D) T

54. AABC-97 BC 3@ D % fde s =)

ZACD=125°93% /B = % ZATE, /BAC- AT TS ?
(A) 75°
(B) 105°
(©) 70°
(D) 100°

55, IMBwA G (Tl AN
(A) ARG ALTTT
(B) TR AWM
(C) ef%ars vl RS
(D) SFATS Bl RS
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56. Tasmania is separated from Australia by
(A) Cook Strait
o\(/ﬁ) Bass Channel
(C) Bering Strait
(D) Luzon Strait

57. Inatriangle ABC,2ZA =3/B=6£C. Then the
smallest angle in the AABC is

(A) 60°
(B) 90°
(C) 45°
c\fg) 30°

58. In an isosceles triangle ABC, AB = AC and Dis
the mid point of BC. Which of the following relations is
always true?

oK) AB>AD
(B) AB < AD
(C) AB=AD
(D) AB =2AD

59. Inaregular polygon the ratio of aninterior and an
exterior angle is 7 : 2. The number of sides will be

(A) 5
(B) 6
©) 7

D) 9

60. Which one of the following does not take part in
cell division?
(A)  Germ mother cell
e \(B) Nerve cell
(C) Pancreatic cell
(D) None of the above

14

56. PR SRR v fRifven P 2w
(A) TS 2
(B) T At
(C) RfER 2@
(D) &= N

57. ABC fier@ 2£A = 3/B = 6£C T & fagred
FEON (PR T LA
(A) 60°
(B) 90°
(C) 45°
(D) 30°

58. «afs SR fdgs ABC-93 AB = AC R BC
e W D 20 SRS =it W0 (PR AP
&) =a

(A) AB>AD
(B) AB < AD
(C) AB=AD
(D) AB =2AD

59, G T TG S TGN @ G RETPIAT
SEATS 7 : 2| IR T

(A) 5
(B) 6
©) 7
D) 9

60. o7 I A Rorets weaRe 0 e
(A) &= A &F
(B) Ny (I
(C) YR (1T
(D) TR RITAbE 7



b c
+
l-ga 1-b 1-¢
1 1 1

" B §

=1, then the value of

l—a+1—b+l—-cls
(A) O
(B) 1
(C) 2
e

62. The dance-drama ‘Chitrangada’ was composed
by :
(A) Girish Chandra Ghosh

(B) Michael Madhusudan Dutt
i \,KS Rabindranath Tagore
(D) Utpal Dutta

63. If (a* +5*) =(a’ +b’)2,thenthevalueof%+§ is
(A) 1

©)

D W Wt

D)

64. Kinetic friction in comparison to static friction is
(A) more
o\.{‘B{ less
(C) equal
(D) equal or more

65. The famous political book ‘The Prince’ was
written by

(A) Dante
v\,(fo Machiavelli
(C) Boccaccio
(D) Petrarch

WREI7WB

S b Al o el
SR e

I TR
(A) 0
B) 1
(©) 2
(D) 4

62. “ammr’ e TlHe! e
(A) s carg
(B) W23t Wy v
(C) T ST
(D) Tesfe wa

63. (a*+5?) =(a’ +5*) TA -Z—+§aa=ﬂ={m

(A) 1
2
(B) 3
3
(© >
(D) 6

64. 1S TR I FE Wt wermm
(A) @
(B) ¥
(C) Hw
(D) I e @

65. fare ArEfS s oy W forst @z wofiet 2w
(A) W -
(B) wifFref
(C) @=ifpe
(D) coigrf
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66. Which region in the world is famous for producing
citrus fruits?
o \WA) Mediterranean Region
(B) Monsoon Region
(C) Equatorial Region
(D) Temperate Region

67. In the battle field, the technique of ‘Rumi’ was
used by
&\ (A) Babar
(B) Akbar
(C) Sher Shah
(D) Aurangazeb

68. The points A(1, 0), B(5, 0) and C(3, 3) are
“V(d()P:ertices of an isosceles triangle
(B) vertices of an equilateral triangle
(C) vertices of a right angled triangle
(D) vertices of a scalene triangle

69. ‘T(IF-I.C.F. of -9, -09 and -009 is
- e\A) 009

B) 9
() 09
D) 9

.70. *Oil of vitriol’ is
(A) HCI
(B) HNO,
(C) HCOOH
e D) H,S0,

16

6. TTaE oI e 5 T BeolwiRa & 2T

(A) GREAIAT e
(B) GRS wI%ea
(C) Fardm si%ew
(D) wifsATerEe T%ee

67. TaURTE TR P T IR
(A) TE
(B) WA
(C) i *E
(D) @THE

68. A(L,0), B(5, 0) €& C(3, 3) oy o
(A) T Ffeare fagre ALY
B) = A fagrem AR
(C) <= i fagrea MY
(D) @ R fgrem AT

69. -9, 09 @R -009 & SIS I
(A) -009
®) 9
© 09
D) 9

70. “=EE o folEer =
(A) HCI
(B) HNO,
(C) HCOOH
(D) H,80,




71. The ten’s digit of a two digit number is three
times the unit’s digit. The sum of the number and its
unit’s digit is 32. Then the number is

(A) 62
& \(’B/) 31
(C) 93
(D) None of the above

72. The Hindu College was founded in Kolkata inthe
year
(A) 1867 AD
(B) 1816 AD
(C) 1917 AD

o) 1817 AD

73. The area of the triangle enclosed by the straight
line x+y=2 and the co-ordinate axes is

(A) 1 square unit
@ \,GBY 2 square unit
(C) 4 square unit
(D) 8 square unit

L) (2]
74. If —==| 7| | =| , then the value of | — is
g \3 2 q

equal to
N7$
(B) 0
) -1
(D) None of the above

75. For the triangle ABC, the side BC is extended to
D so that CD=AC. If ZBAD=109° and ZACB=72°,
then the value of ZABC is

(A) 60° Lvgong OFTIONS.
(B) 70° OnE MARK T8 BE
© 7 | pewanrircy 1o AL-
(D) 72° cAand) PATES
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71. 2 SEIE G0 ALY I A UE 4T FAE
ez e | 7l =il @3z 936 ZRE SE @erwE 32

T, O Wi T3
(A) 62
(B) 31
(©) 93
(D) Tolza @IIHE 71

72. Prrer &9 wwe dfefre =@
(A) 1867 R&%Bitx
(B) 1816 @it
(C) 1917 6=
(D) 1817 fA%%I=

3. x+y=2 FATERA G T A AR fagren
P 2e
(A) 13 @3
(B) 23«3
(C) 43 93
(D) 83 93

74, 3=[§] —G) ng 47 T TR
(A) 1

(B) 0

AN

(D) Boizm @oe 71

75. ABC fargrea BC 3@ D #i%® 3f&fe a1 21 7ts
CD=AC =7 | Tt ZBAD=109° €38 ZACB=72° ¥, 1
ZABC-93 ¥H T3

(A) 60°
(B) 70°
(C) 73°
(D) 72°
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Option — Bengali

76. am@mmﬁﬁmmmmmﬁa g1, ‘CFT S TH (@, @ 9E @6 7 I'—
TN ? T F @A
(A) AHITAGS S (A) FRrmeps I
o ) S S o) @D T
(C) 2HRIGT S (C) A I
(D) ATAEE S (D) ATHZRNLE A
77. Teea AP TawR e 82. FFAE AW (F AV FIN?
(A) W, S (A) FREAY IFH
(B) 4, € (B) I W
(C) 4,5 e WC) FS T GG
o WD) 3,@ (D) ey
78, W7 (T TP * (IS JEIHCS SHIRA T— 83, ‘i aFond—
(A) (STWER (A) TLEAT
(B) @ifaow & uB) TGIEN
(©) agfmn (C) SFaTEt
o By 1 o (D) TG
79. fFaR ©R 84, Trats IR — @2 TIH FHA—
(A) 1% 2R : (A) “IogR
(B) €% &I ewnf sfafa
e (o fow 2ol (C) fawmmsw
(D) B 2R (D) s
80. STAE— *ITwa R R 85. ‘TIe T TR — % AW GTFFUH AT
o\jd() ¢l + @7l (A) =]
(B) (slte + <Feft (B) @St
(C) R + @&t « xef T
(D) ToEd @R 7 _ (D)
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Option — Hindi

76. TFd v &t | s s ®

(A) 7T =
o \(B) TRE I
(C) <sftosg
(D) facst o=z

77. ‘SO’ = ShEETe v T
(A) fosgmn
(®B)
a\(Cji."R

(D) FEFR

78. T59 T vt & RS HE el € 39 W §
(A) STFvE 99
o W) fi T
(C) 3599
(D) FHYRT TH

79. ‘e’ ®
(A) “Hfeames g
(B) fadroy
(C) W™
= (@) TS

80. ‘o fa=m foran gom fovam’ S g osg #
(A) Ffavamg
(B) wfevam
¢ \(e) siufavar
(D) Sfewar

81. W1 ! Y&-YS T & oIy avravas &
(A) W&
o\QB{W
(C) @
(D) fafy

82. foru v= ¥ ‘5% U=rg = WA € & weRaT?
(A)
(B) =ifa
(C) 3w

e\éﬁjﬁﬂ

83. ‘'%B wTe% ad Sufem A" F g &
(A) fFft=a gemEEs
(B) Tfr=a sftmmmEms
(C) #Affr=a sfimmErs
o (D) e e

84. ‘5E W e fogw qeat & g §
(A) 3@t &
(B) 3@
o €y g@aﬁeﬂtgﬁrm

(D) =@ # g&1 e

85. ‘TH-w1EgA 9 § MY IR vaEe & R 9T W
IS 872
(A) T 9@
(B) 31yui qa

(C) I\= ¥a

Q\(/B{W"E
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Option ~ Nepali

76. et TEE TG TGT - TH AT GEE 5 87
(A) THIEA
(B) oo

o ST TR
(D) fom

77, Frgfefan e $1 F a0 &2
(A) 2
(B) &
<)

D) ¥

78. ' wirare i e — @ A g oy WS?
(A) IfeTF
(B) TqEHETF
u\ge{‘ﬁﬁﬁﬂﬁ’
(D) Sty

79, FEATTH HAA S
(A)
(B) 9=
(C) IR

e

80. e aref SfETs Yfech SR FH A2
o (X TR ST
(B) Fenfies =Rt
(C) Wit At S T =
(D) e et s o T

81. F WAF V2
(A) TH
o (B ¥
(C) T
(D) 3

82. 701 ST HidE T2

o\,(rK)?ﬁ':i
B) T

(C) 9w
(D) TR

. 83. ‘q@anﬁaﬁﬁmﬁ%ﬁﬁlﬁww"—‘“

o R S =

(A) feadmo
(B) @it
@ \.(6 EDIEED
(D) TE™

84. mmaﬁa-@aﬁﬁﬂwﬂm@%ﬁ?
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N ey \aye
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% thieys (©
<2 FGy | DA LA tfin
< @ 5 i
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] \ﬂﬁ.
5 | 4 B
& (O (o))
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WLt 83 LIS aL e s
LU e | < (A
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S @) A (©
(lerte (O )
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